‘WOAN  §S'ITE #080duLx3ddon WoLBhA 3 :213hA Wedogudu ou 010L)
‘ven) BE'SY #080duL%addox WOLBRhA 3 :e1ahA wedogudu ou oioLy
H H ‘venj 81'z- = 2., 689 19708 YORDOUOX AdALedSUWaL eH exsoduiaddoy
: 17} suHamasadu Touday
ﬂ / :Adog0.0Y ou pLahIed Youdal|
m Ovrw 2 il Lrbfm c Wrghy AWaHTSAD OU MIHHELMhIORD “BUBLMIOHOULBL WI00
(e1b3HOGe 10) MnIdIHE YOBOULBL LIPA BE MISHHIBLIL; wev ] AwSHRd) OU BOHKELMKIDE "WHIGSHE MOSOUUDL 0B1IDRMUOY
H : HOLAD :AwaHTadd ou elanded Tomday
i [KRLHOW ._—.SXNQAWISV (o6 v S0 ToCT - TveeiL | - CRE1SL ] SECEvor | I stvis 00:50 9T'50' LT - y
ceTIeT - 6968EL - 5722 | STEsvE | STozy 0050 9L 50'b2 — m.”_nuﬂuwhmsﬂ“w_:ﬁmzo:
h'ged] {uex, (uexn]) OrD Of (eW)bA | (EW)EA | (bW | (LEW (L)ZW (L)TW swada ‘eielf
iy 00°0 00’0 86'81 000 S§'1ZE 00'0 S5'1ZE E1'9TE 00°0 £1°9TE 6592 £8'E8T Z0'8TZ1 S8'T0ST 00'ZIE ©JoLi
Is'e 5 = 'L = 50'19 = £L'%T = £L'bZ [43474 - [4474 S0T 00's 00z | oz'zz | ve'ek £8'1Z 69'€6 £6°511 & 00'v2 3HIad)
9€'E = & 6¢'T = SL'6S = 56'5Z 2 65'5Z 81'sZ - 81'sZ 88T 00's 00, | sr'ez | 98'op 1£'12 65'¢8 06'50T = 00'¥Z 91°50°90
#6'E 75T £ 66'99 & E1'€7 = £UEL 89°c2 3 89°c2 (44 00's 00z | 96'1Z | 98'%r SS'EC ¥’ L01 96'0€T = 00'¥2 91°50°50
207 ZE'T - 68'9% B 9E'8T g 9£'87 1082 = 1082 04’0 00's 004 £5°02 99'6€ 6b'bT 0b'sS 68°69 - 00'¥Z 9T'S0'+0
ET'y 9T - 8£’S9 - 8T'ST k 87’57 08'v z 08'v7 15'7 00's 002 | 1692 | [0°8€ 88'ST 9606 #8'91T - 00'v2 9T'SO'E0
S6'E IS'T - 18'€9 - 0% - £0'vE 19’67 5 19'€ ST 00's 00’ | 6£°9¢ | wL'9E 69'vT £0'68 LETT - 00'¥2 91°50°Z0
17 9T - 80°S9 - 87T - 8'7T 244 - w'ze SL'T 00's 00"L 8192 $8'8E OE'ET OT'E0T 0b'9Z1 - 00'vZ 91°50°10
29 T - 8559 - 059 - 05’92 86'ST - 86'ST 96T 00°'s 00°L +8'ST 85'6E 6£'9T 99'ZTT SH'6ET - 00'¥Z 9T'+0°0€
95"y 65'T - #1589 - 18°%C - 18'v €5 - 1€+ 16T 00's 00°Z 18'ST L0'6E 87'sz 99'ZT1 P6'LET - 00'¥Z 9TP0°6T
8'c 1S'T = 19'15 = 95'6C - 85°62 8162 - 81°62 IE'T 00's 00°2 | ££°€T | ¥IBE [R5 P6'E9 9£'S8 - 00'% 91+0'8Z
96'T 0S'T = 76'St - 6’7 - ¥6'2E 09'ze - 09'ze L¥0 00's 00"£ G581 £7°0F 16'91 66’15 06'89 - 00'vZ 9T+0'LE
64T oo “ 58'09 - 90'TT - 90'1T £8°01 = £8°01 ££'0 00's 002 €15 65'EL 88T #1'501 20411 = 00'vZ 9T'+0'9¢
£5' £1'T & 15'59 # 6541 = 65°¢1 97’L1 = 9Lt 6€'C 00's 002 [4:FA3 88’6t 1415:19 18°671 8641 = 00'¥2 9T'+0'ST
£6'F 76'T = 0£'59 = £1'67 - 16T 17’67 - 12’62 10 00'S 00’2 +9'9Z 098¢ 7T0E LZ'T1T 6¥"TbT = 00'¥Z 9T +0'bT
— —— e — ——
e "B | ey e ] 5] D ST .wm.: QAN W mh.: i L L e | TWO/AL | ZWo ) o) 1 L 1 Jeh
‘mgo O BINBLY wen e | ‘mgoad | bl 'EL || utoup | dauAp oA EA ‘Wp ‘bl "EW wuoLoD) 7d d ‘P L ‘Wp T “TW OH uL eietf
a-d1ououuaL SR SO (7-81) 29 19hA (1-GL) BUHBULOLO 13hK
kL) 9I07°50°90 OU 9107 +0'+7 3 Woudau MISHIDR10 MMMATTRdU BE dL0U S0MIARHLIED]
9.8'0%=2819 0="10U"X3LD 0="1H389 ££'566=109 <1A3/L *("LA0dD) Kioxoed aiaHdoaouol
612010 =do2a1d) =dooaurxad) 1eh/uen] ‘(oendd) mieAdieH asHdosololy|
8S9EE"0=2810 ="10U"X3LD) ="1Ha8D 161£°0=10D :3eh/UEN | “YiEAdIRH B1aHdosCIOT|
el 11g IBWWE WLMAOIUR HMISHLBROBA
rsuHauser-dgoady :"dooaduowda] =XBWs =ujw :deworoxoed ({SAJMALMUTOLdL
‘guHaUeer dgoady dgoaduowda | =XeWwe) =ujwg :daworoxoed ()0 Hdrn dL
‘guHaUser dgoady H-UoL :rdgoaduowda) 0€ =xews ZLU'0 =uwg 7€ WEQU :daworoxoed (EW)Da] T-di
‘smHaLeerdgoady) H-UOLN :"dgoaduowdal Sy =xews Ob WEdL :daworoxoed (Zw) di-Hiedeo
‘suHaaerdgoady H-UoLH :dgoaduowdal Gy =XBWo9 0t WEdU :deworooed :(TW) d1mereroy
68’9 =Drd‘ax) ot 19Hadasou £144 19dogudy) :(RHDX0) WK BOBLOZ 6N £- 18 (SUBLWLOMKIG
1X'9160-(2)-608/07-/ 139 :xeuned 8 19guxde "HhOLAD U DI9800RH :1900gHdU SISHHBUEOKRLIA

oufost e BEHOAALXABY] SUHSROINTOU BWaXT)
90-£p-£T€ (218) HOMALDL
19 erwimAgeg :Daduy imodl)
T'8E0°EL16 :dodoiod
9T0Z MEW BE € AA Wedogidl OU MMHBUGSALOUOULAL O 13h1Q

BEHAUDLON ¥RXIE3H 87 WMHhOLIW
MKELHOW 1MXBABHY, OO0 :$MNEEMHRINO BBMMRSMKALIOD
29+0MND Z-TIL / 19 eHuxmAgeg ‘dAgdalal-wiHeD 1 adiy
2HOMBY DJONIEIH ZOMK 1LHOHOGY

{ELAK D OHLI9WEO0D dLeandiendded
HELAA DO

29J+0MD Z-TL :eLank e HoMRURL



